Chapter 4 Part 2 Pr%ctice Test Trigonometry
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MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

Determine the amplitude or period as requested.
1) Amplitude of y =3 sin x ] f’gl = l")\ =3

T A )
A%, ( 3\ 3
A)2n B) 3 \E)/ ) D) 3n
2)Ampﬁtudeofy=—%sinx l_L\lt l—ii_\—-‘-‘{,
n 1 /. Fl \
L0 200
3) Peﬁddgf_y =sin 3x *Tn: = "};
A) 23—" B) 27 Q)3 D)1
\ /
N B ‘
Tl = =
4) Period of y = -3 sin4mx [y 2 =~
T / 1
A) 4n B) QE D)2
TS | S B
5) Period of y =9 sin [5)( - -E] = —
> -
0 2m, T 5 2
&5 B3 93 Dig
Determine the phase shift of the function.
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Determine the amplitude or period as requested.
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Determine the phase shift of the function.
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Use a vertical shift to graph the function.
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Match the function to its graph.
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Find the exact value of the expression.
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Use a calculator to find the value of the expression rounded to two decimal places.
22) tan-1 (1.8) ~
A)29.05 B) 60.95 C) 1.06 D) 0.51
Graph the function.
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Use a sketch to find the exact value of the expression.
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Graph the function. Y.
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Use a calculator to find the value of the expression rounded to two decimal places.
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Use a sketch to find the exact value of the expression.
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Graph the function.
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Find the exact value of the expression, if possible. Do not use a calculator.
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